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Curriculum Outcome

A1 Solve problems that require the manipulation 
and application of formulas related to: perimeter, 
area, volume, capacity, the Pythagorean theorem, 
primary trigonometric ratios, income. currency 
exchange, interest and finance charges.  

G2 Demonstrate an understanding of the 
Pythagorean theorem by: identifying situations that 
involve right triangles, verifying the formula, applying 
the formula, solving problems. 

G3 Demonstrate an understanding of primary 
trigonometric ratios (sine, cosine, tangent) by: 
applying similarity to right triangles, generalizing 
patterns from similar right triangles, applying the 
primary trigonometric ratios, and solving problems. 

                               

Student Friendly: 
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Soh Cah Toa
15 minute quiz
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A pool table is 1.3 m wide and 2.6 m long.  A white ball is shot to rebound and hit the 
black ball.  The angle at which the ball hits the side is the same as the rebound angle.  
The positions of the balls are shown on the diagram below.  Use trigonometric ratios to 
find the distance the white ball traveled by the time it hit the black ball.
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Homework: (see next page also)



Attachments

TrigTheta WS 5.docx

TrigTheta WS 8 ﴾ele dpre﴿.docx
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Example 2 Solution

>§E§3§§IE‘EI&_P;. Draw a diagram to show
angle of depression of the boat from the top the information. Let A, in
of the clift is 33°. Find the height of the clitf metres, represent the

height of the cliff. Thus,

n tha nasract matra.

A
LI n
755~ @0
h = 230(tan 33°)
= 230(0.6494) P c

. =194 (to 1 decimal place)
ﬂ—.%ﬁinitdaﬂra?niﬂﬂﬂ
metre.

Written Exercises
For the following problems, express .o..i..wu to

1 decimal place and angles to the nearest -
degree. B

?‘E_ is the building?

high Is the cliff? The

nls.ﬂoﬁ—o:F;oa. A h
. L

"| 5 use the data inthe
diagram. How high is the

|

Q 6 The diagram shows a ski lift, Find the height

w high is the weather .
Qu:&% The angle of of the mountain. -
elevation is 43°.







image2.png

B7 A house gable has the rafter 7.8 m long and a
span of 9.5 m.
(a) Find the angle of elevation.
(b) Find the rise, h.

7.8m,

'rom a point 132 m above the ground in a
‘control tower, the angle of depression of an
airplane is 38°. How far is the airplane from the
observer In the control tower?

e»vnl—-ussiasnu!io:n_: 1t the
'cliff 1s 180 m high, find the angle of elevation
of the top of the cliff from the boat.

@g.ue:aﬁa.s.taas.u!n.
‘monument, the angle af elevation of the top is
. 27 Calculate te height of the monument.
?Sﬂﬂsﬂga the angle of

Jolevation of the Eitfel Tower to be 63°, She was
7.7  from the base of the tower when she
made this measurement. How high is the Eiffel

Tower?

Ata concert, Tony s sitting 40 m away from
the stage. He is 10 m above the level of the
stage. At what angle of depression is he
watching the group?

@?i__!.sss pole in the world s at Alert
‘Bay, Vic measured the angle of elevation of the
10p of the pole to be 36°. If Vic was standing
Ea.aas-ve.p:?ze:ws-!!.
pole?

" .?:8;_ a building measures 8 m from the

angle of inclination of the root.

15 The tallest chimney in me woria is at me
International Nickel Co. in Sudbury. From a
distance 1.5 km away the angle of elevation of
the top is 15° Find the height of the chimney,
1o the nearest metre.

16 A steel cable is attached to the 1op of a
television mast. The cable is also attached to
the ground at a point 9.8 m from the base of the
mast and makes an angle of elevation of 65°.
(a) Find the length of the cable.
(b) Find the height of the pole.

@mscilul-gx:a.k_aas’.nlgn_-
of elevation of the top of a nearby hydro tower
is 32° and the angle of depression to the bottom
is 24°. How high is the hydro tower?

Calculator Tip
Use the trigonometric values on your calculator

1o find A to 1 decimal place.
ﬁ.
1= (30.8) (an 487

press [E]oa (5] 4 (@) G

DISPLAY O 30.8 308 48 1.1108125 34208 865
Thus, h = 34.2, to 1 decimal place.
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From  boat, 3500 m fron the bassofan . -
!ma.mmu-dmmm«--mwn-« b ot i

dhbium\h:::gl::: ” ’
9, To measuro the width of a gravel it 4
‘meajurements are made and recorded on &
diagram. Caloulate the width, AB, of the
W@ "ﬂ = A
é v

?A-uuu-a«hmmn
Caloulate ths height of the

gAmlM-b&h—-mh:h-nl o b ol Lkt
0 that it mals e engle of 8 with the g
scound. How bigh i the et ? sbovethe A y

n.uu«nn-u..m.
adder from th wall

( )
~ {2, For cach dingram,
{n-ﬂdﬁ.—.umu.mdu—mumdb H ‘the trigonometrio ratio find h
* trigonometric ratio. ity R e
(@) tan 70 = 27 (®) sin 25" = 042 () cou 65° = 042 @
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